
Level 2 Trigonometry Achieved #3 

Calculate the unknown for each triangle 

1. a = 

 

 

 

 

 

3. C° = 

 

 

 

 

 

5. E =  

 

 

 

 

 

7. g =  

 

 

 

 

 

9. i° = 

 

 

 

 

 

11. Area =  

 

 

 

 

 

2. b° =  

 

 

 

 

 

4. d =  

 

 

 

 

 

6. F° = 

 

 

 

 

 

8. h =  

 

 

 

 

 

10.  J° =  

 

 

 

 

 

12.  L° =  

 

 

 

 

  

E°  
 13  

 10  
 43°  

g

123  

40°  

35° 

 49 

 34 

25°  

 i° 

L° 
 33  

 25  

85°  

 50 

J°  

21 
140°   25  

a  

 29 

 24  

 32  

C° 

 24  

 25 

 29 

 38°  

 29  

b° 

18 84° 

 29 

1847°  

93°  
d

15

20 

11 
F° 

158
108° 

142 

h 



Answers: Level 2 Trigonometry Achieved #3 

1. a2 = 252 + 212 – 2 × 25 × 21 × cos 140° = 1870.3  a = √1870.3 = 43.25 

 

2. sin b° = 
ୱ୧୬ ଼ସ°ଶଽ  × 18 = 0.61729  b° = sin–1(0.61729) = 38.12° 

 

3. cos C° = 
ଶଽమା ଶସమ ି ଷଶమଶ × ଶଽ × ଶସ  = 

ଷଽଷଵଷଽଶ  C° = cos–1( 
ଷଽଷଵଷଽଶ ) = 73.60° 

 

4. d = 
ଵ଼ୱ୧୬ ଽଷ° × sin 47° = 13.18 

 

5. sin E° = 
ୱ୧୬ ସଷ°ଵଷ  × 10 = 0.5246  E° = sin–1(0.5246) = 31.64° 

 

6. cos F° = 
ଵଵమା ଵହమ ି ଶ଴మଶ × ଵଵ × ଵହ  = 

ିହସଷଷ଴   F° = cos–1( 
ିହସଷଷ଴ ) = 99.42° 

 

7. g = 
ଵଶଷୱ୧୬ ଷହ° × sin 40° = 137.84 

 

8. h2 = 1422 + 1582 – 2 × 142 × 158 × cos 108° = 58994.21 h = √58994 = 242.89 

 

9. Call angle opposite side of length 49 = y° :  

 sin y° = 
ୱ୧୬ ଶହ°ଷସ  × 49 = 0.609067  y° = sin–1(0.609067) = 37.52° 

 i° = 180 – 37.52 – 25 = 117.48° 

 

10. We find missing side, call it x, and use that to find the angle: 

  x2 = 292 + 502 – 2 × 29 × 50 × cos 38° = 1055.77 x = √1055.77 = 32.49 

 Cos J° = 
ହ଴మା ଷଶ.ସଽమ – ଶଽమଶ × ହ଴ × ଷଶ.ସଽ  = 

ଶ଻ଵସ.଻଻ଷଶସଽ     J° = cos–1( 
ଶ଻ଵସ.଺ଷଶସଽ  ) = 33.32° 

 

11. Need an angle, doesn’t matter which. Make it the top one.  

 cos k° = 
ଶସమା ଶହమ – ଶଽమଶ × ଶସ × ଶହ  = 

ଷ଺଴ଵଶ଴଴    k° = cos–1( 
ଷ଺଴ଵଶ଴଴ ) = 72.54° 

 Area = ½ × 24 × 25 × sin 72.54° = 286.18 

 

12. Find the side opposite 85°  

 o2 = 252 + 332 – 2 × 25 × 33 × cos 85° = 1570.19 o = √1570.2 = 39.63 

 cos L° = 
ଷଷమା ଷଽ.଺ଷమ ି ଶହమଶ × ଷଷ × ଷଽ.଺ଷ  = 

ଶ଴ଷସ.ଶଶ଺ଵହ.଺  L° = cos–1( 
ଶ଴ଷସ.ଶଶ଺ଵହ.଺ ) = 38.94° 


